Bellwork  Alg2  Friday, March 15, 2019

1. You are flying a kite and have let out 15m of string. If you see the kite with an angle of elevation of 56°,
find the height of the kite to the nearest tenth of a meter.

2. You are 210 feet from the front door of a tall building. You see a window washer on the outside of the
building with an angle of elevation of 62°. How high up on the building is the window washer? Round to
the nearest whole foot.

3. In AABC Sinx = 0.6. What is Cosy? A
X
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1. You are flying a kite and have let out 15m of string. If you see the kite with an angle of elevation of 56 °,
find the height of the kite to the nearest tenth of a meter. ¥ :
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2. You are 210 feet from the front door of a tall building. You see a window washer on the outside of the
building with an angle of elevation of 62°. How high up on the building is the window washer? Round to
the nearest whole foot.
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3. In A4BC Sinx = 0.6. What is Cosy? A
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